X1 1"7 '0I0 2,17 naw .7"02

— 991D 2OMWAT NN IR NI
And if he would inform us regarding the rainy season, etc.

OVERVIEW

The X713 explains that it is necessary for the 71wn to mention ppP7 twice to
teach us that a pp7 is a 7"717 both in the rainy season and in the sunny season.
The X773 continues to explain why we could not derive the fnma N from
the Wit n» and vice versa. The 71w»n however never mentioned either
AT MR or 2MWAT MR (it just mentioned PP twice), which prompts N15OIN
to make the following observation.

— 200 N1 Ixma9Na

One Xn12992 would be sufficient to explain why ppA is mentioned twice -
— 2159 519792 159 XD NN PP NN RTN NI ONT
For if pp7 would be mentioned only once we would have established this
P for whichever is more appropriate for it -
— D4 931257 598 NN 9Ny
Therefore it was necessary for the 71w» to mention Pp9 twice; the reason the

X3 mentioned two NN 1S -
— 53y XM NNOYNT )1%5 NON

Only since the X713 found a Xn1>>9x for either way, the X713 acted -

Sonwan Mmnra ppY NN MR PP NYTHa *NNIaa Nan oINS
As if the (Xn>»92) [mwn] taught explicitly a 7%n7 nwmsa ppa and a pp9
2ORWAT Nta.

SUMMARY

' The XM is the necessity to mention either case since it cannot be derived from the other.

% Let us assume that we can derive nn7 N from 2w N, but we cannot derive 2wan nn° from N’
mnna, for it is more logical that it should be a 7"77 in the 7 N (or the opposite) this one XN13*7% would
suffice to explain why the Xin wrote ppa twice, for if he wrote it only once I would assume that he is
discussing only fnmi1 nn (for that is when it is more logical that it should be considered a 7";17). Therefore
it is necessary to mention pp7 a second time to include even w1 N>, [The opposite is equally true.] See
‘Thinking it over’ # 2.

* We would choose the one Xm>™x that we feel is more appropriate and that will explain why pp- is
mentioned twice (see previous footnote # 2).

* See “Thinking it over’ # 1.

tis actually a 71wn on 2,7 (see W"wM).

% Had the xn>™2 stated explicitly 2»wxa nw°2) mana N2, both MM would be necessary to explain why
we cannot derive 7an from 0°nwa and 0°nwa from 7nar.
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One Xm>>7% is sufficient; he mentioned both because they were available and
would explain the X172 had it mentioned 7277 N and 27AWAT NI,

THINKING IT OVER

1. Why cannot we say that the X731 mentions both Mn1>77% (not because it
considers as if the mwn mentioned both [nmm n» and ‘onwan N, but
rather) because the X ) was not sure which of these is more logically
consistent; therefore it mentioned both, so whichever way you may think, it
1s still necessary to write PP twice?

2. Mmoo writes that one &m>™¥ would be sufficient.® This presents a
difficulty. Let us assume that it is more logical that a pp7 is a N2 "7
. Why then does the Xin write ppA twice, when it could have written ppA
2nwAT N2 1s a 1"77 and I would know that it is certainly a m»n°a 2"70
a2t

7 See footnote # 4.
8 See footnote # 2.
? See w"R77 MOOIN.
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